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Group Marks: 200

CAT ¥ Senior Scale Stenographer English CET Exarn

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 627289201 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following collaborated with Rao Tula Ram and revived the struggle in Ahirawal?

Options:
1 % Rao Shamshad Khan

-~ % Rao Kishan Gopal

- » RajaNahar Singh

4 +« Muhammad Azam

Question Number : 1 Question Id : 627289201 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 2 Question Id : 627289202 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The cause of the 1857 mutiny was lost in Harvana after which of the following historical incidents?

Options:

, w Battle of Rohtak (24 May 1857)

- % Battle of Delhi (20 September 1857)
- » DBattle of Gurgaon (30 September 1857)

4 « Battle of Narnaul (16 November 1857)

Question Number : 2 Question Id : 627289202 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

F=oaa 7 o &g tREas g & o€ 89 1857 # gamn # Bge AT & @r ar?
Options:

UgaF FT € (24 FS 1857)

1 ®

-~ fe=eh &1 g2 (20 RasT 1857)

TzeTE FT @S (30 Fagew 1857)

3 ®

* AR HT I (16 A== 1857)

Question Number : 3 Question Id : 627289203 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements about administrative changes in Haryana after 1857 is NOT true?
Options:
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, » Haryana was detached from the North-West Province and made a part of Punjab.

o  Districts of Delhi territory were regrouped into two divisions: Northern and Southern.

-
The offices of the magistrate and collector were replaced by that of deputy commissioner as the head of the district.

4%
The division was under a commissioner who was subordinate to the judicial and financial commissioner of Lahore.

Question Number : 3 Question Id : 627289203 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gﬁ'ﬂmﬁm'iss:’#mgmmﬁﬁmﬁtﬁéﬂﬁﬁmﬁﬁﬁﬁﬁmmm@aﬁﬁ?

Options:
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Question Number : 4 Question |d : 627289204 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who established the Haryana Brhamcharya Ashram of Bhiwani?

Options:
1 % Babu Devaki Nandan

- % Madhav Prasad Mishra
= % Pandit Shridhar

4 + Pandit Sita Ram

Question Number : 4 Question Id : 627289204 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & e § FEEEY 3 S Tngar Faa fr o

Options:

|y M I e
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Question Number : 5 Question Id : 627289205 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The 2017 National Youth Festival was held in the district of Harvyana.
Options:

> #% Karnal
- » Panipat

4 + Rohtak

Question Number : 5 Question Id : 627289205 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I T Agledd 2017, gRamom & Tror & smafaa fGFar @ o

Options:

1@#@

Question Number : 6 Question Id : 627289206 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the financial year 2016-17. the secondary sector in Haryana was approximately growing at:

Options:
1« 6.1%

5 % 9.3%
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Question Number : 6 Question Id : 627289206 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁ?cfmaﬁzms-wﬁ,aﬁmmﬁqﬁ;ﬁwmﬁwﬁmﬁqﬁagé%?

Options:

, ¢ 6.1%
o B ?%
2 % 9.3%

L % 7.8%

Question Number : 7 Question Id : 627289207 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following ranks was secured by Haryana in the recently organised National Youth Athletics Meet?
Options:

1 P 4th

> % 31

4@ 1%

Question Number : 7 Question Id : 627289207 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g &1 H AT TSaT a1 vyefead giadiEar # ghamn & farfataa & @ 9 @ s g

Options:

1_$$w
z_wm
3.‘*‘38‘:\:‘“

4 v ool

Question Number : 8 Question Id : 627289208 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The use of in food items was banned as per a directive by the Haryana Government.

Options:
1 % Food colours

> % Energy drinks
-  Liquid nitrogen

4 % Artificial sweetener

Question Number : 8 Question Id : 627289208 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRamoT SR & Fanger Teg Rt A & ITART 9 Fiasesr & fear am o)

Options:

1. % CICCARS

5 v B S

4%%%1:%'&&

Question Number : 9 Question Id : 627289209 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“Yadgar-e-Ghalib’® was written by:

Options:
1 Khwaja Altaf Hussain Haali

- % Mohammad Khusro
=z % Ahmed Ali

4 % Sayyed Khan

Question Number : 9 Question Id : 627289209 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘YEIR-T-TNTord’ & THIT &8

Options:
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Question Number : 10 Question Id : 627289210 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who was the author of the book ‘Satyagrahi Prahlad’?”
Options:
, » Ayodhya Prasad Goyaliya

> « Tulsiram Sharma Dinesh
= % Pandit Neki Ram Sharma

, % Balmukund Gupta

Question Number : 10 Question Id : 627289210 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR YEag ATHF JEIF & GF Hief g7

Options:

| % TTEAT SHIE AT

, o TOERIA AT T

CILS
5 % TEIEE T

Question Number : 11 Question Id : 627289211 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following has been honoured with the title of “State Poet™ in Haryana?

Options:
1 % Sheikh-u-Alishah Kalandar
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> % Madhav Prasad Mishra
% « Khusiram Sharma

4 % Radhakrishna Mishra

Question Number : 11 Question Id : 627289211 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TaeRa 7 ¥ 8 e 7 =g & #7 39 ¥ gEarfag & ar 82

Options:

| x T-3-3TAE Felel
- » HUF wE AT
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Question Number : 12 Question Id : 627289212 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many wildlife sanctuaries does Haryana have?
Options:
1 % Five

> # Six
= % Seven

, v Eight

Question Number : 12 Question Id : 627289212 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e 7 Fae Ieaig Ry g7
Options:
1. 8 9Tl

2_%3%

EI%QW
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4 & NS

Question Number : 13 Question Id : 627289213 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which river flowing through Haryana is in the news for its resurrection these days?
Options:

, » Ghaggar River

> % Yamuna River
= « Saraswati River

4 % Markanda River

Question Number : 13 Question Id : 627289213 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s feail gRamon # Tg Al R FE F [Ty FT TE FAERT H §?
Options:
| % HEERT A

Eﬁmgmaﬁr
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Question Number : 14 Question Id : 627289214 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following important trees is NOT found in Haryana?
Options:

1 % Pine

- o Teak

z % Kikar

4 % Mulberry

Question Number : 14 Question Id : 627289214 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 15 Question Id : 627289215 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the president of the Haryana BJP state unit?
Options:
1 % Dinesh Sharma

> #% Ram Bilas Sharma
= + Subhash Barala

, = Captain Abhimanyu

Question Number : 15 Question Id : 627289215 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i fodr =T e F HemeT HiF 27
Options:

| w feder e

3 W 2
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Question Number : 16 Question Id : 627289216 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Labour Day in Haryana will now be celebrated on every year.

Options:
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, » Independence Day
» w Haryana Day
-  Vishwakarma Puja Day

, % Baisakhi Day

Question Number : 16 Question Id : 627289216 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F 39 afEs GEw vs aw 9 HATIT AT |

Options:
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Question Number : 17 Question Id : 627289217 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A new act. viz. the Haryana Panchayati Raj Act came into force on:

Options:

, w 3rd August. 1990

22nd April, 1994
5 % 2nd October, 1996

. % S5thlune, 1997

Question Number : 17 Question Id : 627289217 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options:
| % 3 37TTEdA, 1990
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o v 22 3T5e1,1994

_ » 2 3T, 1996

L« 5 T, 1997

Question Number : 18 Question Id : 627289218 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the 2014 Indian General Election in Haryana, the BJP won out of the 10 Lok Sabha seats.

Options:

1 ® 2
o W i)
3¢ 7

4 % 8

Question Number : 18 Question Id : 627289218 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

RO # 2014 & AR AFEAT A H, A A 10 AHEsT WA A F A S o
Options:
1_%5

Question Number : 19 Question Id : 627289219 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

has NOT been established by the Department of Environment, Government of Harvana to combat the
climate change concerns.

Options:

, « Coastal Regulation Fund

- % National Adaptation Fund for Climate Change

= # Green Climate Fund
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4 % Adaptation Fund

Question Number : 19 Question Id : 627289219 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Serarg Tads # Rt @ awa w1 & P & TUTIT FaTaIoT fFemer, 2o TR
@ AT Fr R B
Options:
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Question Number : 20 Question Id : 627289220 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Morni Hills are situated in district of Haryana, which is the only hill station in the state.
Options:
1 + Panchkula

> # Sirsa
%z % Ambala

4 % Yamunanagar

Question Number : 20 Question Id : 627289220 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al gew g & foror & g &, 3 U= &1 AT fFe T B

Options:

i =

2_%%@1-
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Question Number : 21 Question Id : 627289221 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Environment SA India Pvt Ltd is the Continuous Ambient Air Quality Monitoring agency for 3 of the following 4 cities.
Find the odd one out.

Options:
1 « Faridabad

5 % Gurugram
- % Panchkula

4 % Rohtak

Question Number : 21 Question Id : 627289221 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TFTATHE THT SEAT gEde of#es (Environment SA India Pyt Ltd) Beao@a 4 eei # @ 3 & T
AT TRAY A VAT IR T &1 3T T Ige w0

Options:

l_gm

Question Number : 22 Question Id : 627289222 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Haryana. the Dehati Fair is generally celebrated for a period of:
Options:

, % 15days

5 o 7 days

5 % 21days

4 ® 30days

Question Number : 22 Question Id : 627289222 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

2.J?ﬁ?"

Question Number : 23 Question Id : 627289223 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Haryana, the celebration of Gugga Navami festival is related to:
Options:
, + Snake worship

- % elephant worship

= % COW worship

4 % Dbird worship

Question Number : 23 Question Id : 627289223 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRamoT # T FaA R Fed el g2
Options:

| o 99 &S

o % mﬁw

IMT T I=T
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4 qefl =0 =

4

Question Number : 24 Question Id : 627289224 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Haryana. the Surajkund Crafts Fair is organised in the month of:

Options:
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| ® January

- % June
-  February

4 % December

Question Number : 24 Question Id : 627289224 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g &, groge T A9 # s fFe #E@ # fRar smer 22

Options:

1_&:3{?!3'51‘

2@333

EJW
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Question Number : 25 Question Id : 627289225 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is generally used as the basic colour to make Bagh shawls in Haryana?
Options:
1 % Blue

> % Violet
= o Green

4 % Red

Question Number : 25 Question Id : 627289225 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g &7 sw dh W fefaf@a & @ #ia o @1 gy &1 F w9 7 9w ofe s F e g3
farar =rar 87
Options:

1_%3#'?'”-
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Question Number : 26 Question Id : 627289226 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Shorthand is a language.
Options:
1 % Sound

- % Script

5 ® Signs

4 « Phonetic

Question Number : 26 Question Id : 627289226 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Shorthand is a language.
Options:
1 % Sound

> % Script

5 ®& Signs

4 « Phonetic

Question Number : 27 Question Id : 627289227 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

P. B, series are strokes.
Options:
, % Straight horizontal

-  Straight down
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= % Curved horizontal

4 = Curved upstrokes

Question Number : 27 Question Id : 627289227 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

P, B, series are strokes.
Options:
, w Straight horizontal

5 of Straight down

% % Curved horizontal

4 % Curved upstrokes

Question Number : 28 Question Id : 627289228 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vowels are represented by

Options:
1 « Dots and dashes

> % Strokes

- % Angular signs

, = Circle and loop

Question Number : 28 Question Id : 627289228 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vowels are represented by
Options:
1 +« Dots and dashes

> % Strokes

- w Angular signs

, % Circle and loop
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Question Number : 29 Question Id : 627289229 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Long vowel a is represented by a

Options:

, w Lightdash

o  Heavy dot

. w» Lightdot

, w Heavy dash

Question Number : 29 Question Id : 627289229 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Long vowel a is represented by a

Options:
, = Lightdash

>  Heavy dot

. w Light dot

4 % Heavy dash

Question Number : 30 Question Id : 627289230 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AH and 3 are vowels.
Options:

5t
, « 17 place dot

o % 3™ place dot

3 % 279 place dash

4, = 1% place dash

Question Number : 30 Question Id : 627289230 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AH and i are vowels.
Options:
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. 1¥ place dot

> % 3% place dot

3 % 279 place dash

4 % 15 place dash

Question Number : 31 Question Id : 627289231 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

iand 00 are place vowels.
Options:
L. 2

Question Number : 31 Question Id : 627289231 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

iand 00 are place vowels.
Options:

liﬁznd

Question Number : 32 Question Id : 627289232 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“8* circle is written on the of curves.
Options:

, » Rightside
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> % Left side
3 « Inside

4 % Upper side

Question Number : 32 Question Id : 627289232 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“8* circle is written on the of curves.

Options:
, = Right side
> % Left side

3 « Inside

4 % Upper side

Question Number : 33 Question Id : 627289233 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Strokes are in length to indicate the following ‘t* or *d’.
Options:
1 « Halved

- % Doubled
3 % Circled

, » Looped

Question Number : 33 Question Id : 627289233 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Strokes are in length to indicate the following ‘t* or *d’.
Options:

1 « Halved

> % Doubled

3z % Circled
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, » Looped

Question Number : 34 Question Id : 627289234 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When follows “t* or *d’. the combination is thus written.
Options:
, « Skrand sgr

- % Sprand sbr

5 % Strand sdr

4, % Schrand sjr

Question Number : 34 Question Id : 627289234 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When follows “t* or *d’, the combination is thus written.
Options:
, « Skrand sgr

> % Sprand sbr

3 % Strand sdr

4, = Schrand sjr

Question Number : 35 Question Id : 627289235 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The form is used for half length ‘h’ standing alone.
Options:

. v Upward

- % Downward

= % Horizontal

4 % Vertical

Question Number : 35 Question Id : 627289235 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The form is used for half length ‘h’ standing alone.

Options:
Tiyzar
.« Upward

- % Downward
= % Horizontal

4 % Vertical

Question Number : 36 Question Id : 627289236 Display Question Number
Orientation : Vertical

Final ‘It’ is expressed by
Options:

1 ® Lfull

> « L halved

z % L doubled

4 % L quartered

Question Number : 36 Question Id : 627289236 Display Question Number
Orientation : Vertical

Final ‘It’ is expressed by
Options:

1 % Lfull

> « L halved

= % L doubled

4 % L quartered

Question Number : 37 Question Id : 627289237 Display Question Number
Orientation : Vertical

: Yes Single Line Question Option : No Option

: Yes Single Line Question Option : No Option

: Yes Single Line Question Option : No Option

Curved strokes are doubled in length to indicate the following syllable:

Options:

1 & TI'_. dl': thr
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> % Prandbr
z % Frandvr

, % chrandjr

Question Number : 37 Question Id : 627289237 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Curved strokes are doubled in length to indicate the following syllable:

Options:
1 ¥ j i dl', thr

> % Prandbr

z % Frandvr

, % chrandjr

Question Number : 38 Question Id : 627289238 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

is doubled in length to add final “er”.
Options:
1 ® Kr
> « mb

z #% Ir

4 % Dr

Question Number : 38 Question Id : 627289238 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

is doubled in length to add final “er”.
Options:
1 *® Kr
>  mb

= % Ir

4 % Dr
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Question Number : 39 Question Id : 627289239 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Con and Com is represented by a written at the beginning of the word.

Options:
1 « Dot

- % Dash

5 % liny circle

4 % Vowel

Question Number : 39 Question Id : 627289239 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Con and Com is represented by a written at the beginning of the word.

Options:
1 « Dot

- % Dash
o % liny circle

4 % Vowel

Question Number : 40 Question Id : 627289240 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The *n’ hook is written on the side of straight down strokes.

Options:
1 % left

5 o Hght

- % upper

4 % below

Question Number : 40 Question Id : 627289240 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The *n’ hook is written on the side of straight down strokes.

Options:
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1 % left
o o Tight
- % UPper

4 % below

Question Number : 41 Question Id : 627289241 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

L \_‘TH('._\_= — |

N =N R

AR5

A > —

B £ S
o

C‘ —— ————

D _—

Options:

1 & A

o W B

T W C

4« D

Question Number : 41 Question Id : 627289241 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

P sl 75\ Sy iy

_—— 7 ({-

== l, /:"“

A >

B £ —
o

&

D FE——

Options:

1 *® A

o W B

o W C

4.« D

Question Number : 42 Question Id : 627289242 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to {ill in the blank.

— mpz s > b
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Options:
1.¥ A

2_$2B

Question Number : 42 Question Id : 627289242 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

mez s>

C

D
Options:
1.¥ A

E.WB

Question Number : 43 Question Id : 627289243 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

D b

Options:
1 ® A

E.WB

3 ¢ C

4 % D

Question Number : 43 Question Id : 627289243 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

D sy

Options:
1 ® A

E.RB
z ¢ C

4 % D

Question Number : 44 Question Id : 627289244 Display Question Number
Orientation : Vertical

Select the right sentence.

3 |

: Yes Single Line Question Option : No Option

— \ .L
> \ L "

C N
N T ] A

D \\_ :

Options:
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Question Number : 44 Question Id : 627289244 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right sentence.

Options:
1 ® A

E.WB

3_%(:

4.« D

Question Number : 45 Question Id : 627289245 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Re-arrange the sentence.

A "_. =
e\
B S— t‘\\
—
B =7 Kk__
c —J\—\ R A
AN !
) g m‘\. |
e N
Options:
1 & A
>« B
o W C
4 % D

Question Number : 45 Question Id : 627289245 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Re-arrange the sentence.

A L L .
o\

B —— _Ki

__’?\\‘ \ = / l. e
< ?

) 4 T‘\_\ |
Iy - - %
Options:
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1 # A
>« B
T W C

4 % D

Question Number : 46 Question Id : 627289246 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

Whether I were you, I would never permit her to participate in such an exhausting activity.

Options:
1 « Whether

o ® Were
= % would never

4 % such

Question Number : 46 Question Id : 627289246 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

Whether I were you, I would never permit her to participate in such an exhausting activity.

Options:
1 « Whether

> ® Were
= % would never

4 % such

Question Number : 47 Question Id : 627289247 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options

Both of them are excellent books. but this one is best.

Options:
1 % Them

- % excellent books
- % this one

4 « 15 best

Question Number : 47 Question Id : 627289247 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options

Both of them are excellent books, but this one is best,

Options:
1 % Them

> % excellent books
= % this one

4 « 1s best

Question Number : 48 Question Id : 627289248 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

His conservative parents did not approve for his marriage with a girl of his choice.

Options:
» His conservative parents

1
o  for his marriage

5 w Witha girl

4 % ofhis choice
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Question Number : 48 Question Id : 627289248 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the

INCORRECT word or phrase from the given options.

His conservative parents did not approve for his marriage with a girl of his choice.

Options:
L ® His conservative parents

-  for his marriage
5 % Witha girl

4 % ofhis choice

Question Number : 49 Question Id : 627289249 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the most appropriate antonym of the given word.
Authentic

Options:
, % Original

5  Spurious
3 % Real

4 % Genuine

Question Number : 49 Question Id : 627289249 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the most appropriate antonym of the given word.
Authentic

Options:

, % Original

5 o Spurious

z % Real

4 % Genuine
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Question Number : 50 Question Id : 627289250 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the most appropriate antonym of the given word.
Scanty

Options:
1 % Pathetic

- % Deficient
= # Restricted

4  Adequate

Question Number : 50 Question Id : 627289250 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the most appropriate antonym of the given word.
Scanty
Options:
1 % Pathetic
> % Deficient

=z % Restricted

4  Adequate

Question Number : 51 Question Id : 627289251 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the most appropriate antonym of the given word.

Pragmatic
Options:

1 % Realistic
> % Practical

= « Theoretical

4 % Efficient
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Question Number : 51 Question Id : 627289251 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the most appropriate antonym of the given word.

Pragmatic
Options:
1 % Realistic

- % Practical
= « Theoretical

4 % Efficient

Question Number : 52 Question Id : 627289252 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these words forms a noun when the suffix ‘-ist” is added to it? (Change in spelling may be required)
Options:
1 % Sincere

> « Real
= % Enter

4 % Atftend

Question Number : 52 Question Id : 627289252 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these words forms a noun when the suffix ‘-ist” is added to it? (Change in spelling may be required)
Options:
1 % Sincere

- « Real
= % Enter

4 % Attend

Question Number : 53 Question Id : 627289253 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these words forms a noun when the suffix ‘-ity’ is added to it? (Change in spelling may be required)

Options:
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1 « Pure
- % Remember

5 % Ignore

4 % Vocal

Question Number : 53 Question Id : 627289253 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these words forms a noun when the suffix ‘-ity’ is added to it? (Change in spelling may be required)
Options:

1« Pure

- % Remember

5 % lgnore

4 % Vocal

Question Number : 54 Question Id : 627289254 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these words forms a noun when the suffix ‘-ment’ is added to it? (Change in spelling may be required)
Options:
1 % Happy

> % Afrive
5 % Betray

4 Agree

Question Number : 54 Question Id : 627289254 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these words forms a noun when the suffix ‘-ment’ is added to it? (Change in spelling may be required)
Options:
. % Happy

> % Arrive
5 % Betray
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4 Agree

Question Number : 55 Question Id : 627289255 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that best expresses the meaning of the underlined idiom in the given sentence.

Belief in witchcraft is losing ground even in remote areas now.

Options:
, w acquiring power

- % continuing as before

-  becoming less acceptable

4 % deeply engraved

Question Number : 55 Question Id : 627289255 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that best expresses the meaning of the underlined idiom in the given sentence.

Belief in witchcraft is losing ground even in remote areas now.

Options:

, % Aacquiring power

-, % continuing as before

-  becoming less acceptable

, w deeply engraved

Question Number : 56 Question Id : 627289256 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T st & @ Fiar oeg 953 &7
Options:

1_&-‘3m

ga»&aﬁj:
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. » TOB

4 % STSTOT

Question Number : 56 Question Id : 627289256 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

@ a=al § ¥ Fi9-97 o 959 &7
Options:

1_u?ﬁ?:|'€f
2.*‘33@
S.Jwé

4 % STSTOT

Question Number : 57 Question Id : 627289257 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fafof@T =gt & @feg a9 # FIF-A1 Ueg acqH &7
Options:

|y H A T oo &

g i
i §H 9T FHded T AT AMgT|

. » o A T 30T T gl

|, ST IA GAR TS FEA I

4

Question Number : 57 Question Id : 627289257 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fafof@T =gt & @feg deg # FIF-A1 Ueg IcqH &7
Options:

|y HET AW T GoeX €

5 £
S gH 9T FHded T AT ATgT|
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. T AH G T T g

|y SE AT GART T HERSA g3

Question Number : 58 Question Id : 627289258 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

BH MATY F==l dT A T AT {Wiiahd e F1 Tk Fald Fa150|

Options:

l_ﬁmﬁa

z_ﬁéq?;:tr

Bfm

4_%31-1{

Question Number : 58 Question Id : 627289258 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

&H HATY =<l $TI FASE FAT AgV| IWMhd U F Tl Sl aa=T|

Options:

l_ﬁmﬁa

z_ﬁéq?;:tr

ngm

4_%571{

Question Number : 59 Question Id : 627289259 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR FRET F A gF R 9fFT F FA-A1 HewR TS 87

Options:
1« THD

> % WY

z ® o
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4 % JTAT

Question Number : 59 Question Id : 627289259 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR FRET F A gF R 9fFT F FA-A1 HewR TS 87

Options:
1. UqHEF

o % WY

z R a

4 ® J9HT

Question Number : 60 Question Id : 627289260 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘MO T T T A g9
Options:

1_361%
> B 3cH1g
3 o Ak

4.35%0-”

Question Number : 60 Question Id : 627289260 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TR ITE T TUET o919 ZIE:

Options:

1. ® T%
o W HIO

4.%550-”

Question Number : 61 Question Id : 627289261 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘M%ﬁ'ﬁfsﬁéﬁ’ragd & gead T ¢ {@ifehd eeg H FiA-81 FATH HATed g7
Options:

| % HHURT FAH
, o W] A

. % TIFT T

4w HSOAT A9 FHATH

Question Number : 61 Question Id : 627289261 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hams' fagny o i 5ga & Gee T g1 WWifehd e # -8 AW HATEA &7

Options:

| % HHURT FAH
, » W] BHTE

. % TIFT T

4w HSOAT A9 FHATH

Question Number : 62 Question Id : 627289262 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T o=l § @ 99+ §47 F 9gI=T]

Options:
1. % 34

z-ﬁm
Y

4 FEGT

Question Number : 62 Question Id : 627289262 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T eT oreel § | S99 T4 FI 9g=I0]
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Options:
1. % 34

gﬁm
.« UlcEIiaes

4« S99

Question Number : 63 Question Id : 627289263 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e 9eg &1 T =g a1 grEm?

Options:
1 H + HaelddA

> % T + FAEA
T W HT"‘W

4 ® m + HTelsdd

Question Number : 63 Question Id : 627289263 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HEEasd 9eC & T F=oe +ar g

Options:
1 o T HAdeldSd

> TN+ o8

- % TET + HFelad

, « T + HTolE

Question Number : 64 Question Id : 627289264 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HaNIT & I FIA-8T g7

Options:
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| v € #EE! 3 Aeg HiET)
o w UH & HH Q|

qEaF A X T

4 ®

Question Number : 64 Question Id : 627289264 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HaNIT & I HiF-8T g2

Options:

| v € #EE! Bl Aeg HieT
o w UH o HH Q|

qEaF A 9T T 2

4 %

Question Number : 65 Question Id : 627289265 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TF T T el ALl SAdr alhlad FT FHar Y geEm:

Options:

|« 3ToEr e e off §%a @ g
, » BT S 3T F 2§

ar HAT I[UaTel Sfed T WY Fel & Hepdl|

o ®

y 39T Y ZEY & W AT

4.

Question Number : 65 Question Id : 627289265 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TR Y T dTelr Fel SoAdr ailehlad T Har 3 grem:

Options:

CAT 7 Senior Scale Stenographer English CBT 8th Nov 2017 Shift 2



CAT 7 Senior Scale Stenographer English CBT 8th Nov 2017 Shift 2

| w HToMET cUTed wefr o Hher AT i
, v TEE A AT F F g

- ar WA IUiETer SAfed T WY FE 1§ Hepol|

. 39T 2N gEY & WX I

4.

Question Number : 66 Question Id : 627289266 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Four prime numbers are written in an ascending order. The product of the first three of them is 385 and the product of
the last three is 1.001. The ratio of the sum of first and third to the sum of second and fourth numbers is:

Options:
1 % 1:2

e e

Lh

z o 4

4 % 3:4

Question Number : 66 Question Id : 627289266 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AN HAST HEATC ARG %A H fOdr §1 37 § vgel di9 Seart &1 uine 385 R Hfaw &
FEATHT F AOG 1,001 71 TEer AR FEY F v qwr g@d R Gl F dr F segee gem

Options:

' F 52
> % 2.3
=« 4.5
4% 3:4

Question Number : 67 Question Id : 627289267 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a town, 55% of voters are males and rest are females. If 60% of the males are literates and 80% of the females are
illiterates. then by what percentage is the male literacy lesser than the female illiteracy?

Options:
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1

5 O
1. 3
2

2=

o R 3
L

= B 33
i

4 B 33

Question Number : 67 Question Id : 627289267 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

et 2T # 55% Aderar R § R @ AfgeT §1 Ay 60% oW wew & 3 80% AT Een
g1 & I3 Wl AR FERRAT ¥ Faa giaud &7 82

Options:

Question Number : 68 Question Id : 627289268 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The average of k numbers is x. If a number y in the given numbers is replaced by ¥ . then the average becomes X . Which of
the following is true?

Options:
1 # x=f+k(}".’?]

x =

F —_ AT
o =)
T+l=x+2
3¢k k
R
4 % k k
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Question Number : 68 Question Id : 627289268 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

k Tt w AT B TR A M FTE T A ¥y FT Y ¥ g6 TIm S0 & dwa x g e 2
=T & @ 7 @ 22

Options:

& x=i+k(}-—jr)

Question Number : 69 Question Id : 627289269 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A loan is to be paid back in two equal annual instalments each of ¥ 50,460. If the rate of interest is 16% per annum,
compounded annually, then the total interest charged is:

Options:
. % 13,980
o % 18,198

- % 19,380

4 v 19,920

Question Number : 69 Question Id : 627289269 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TS HUT HT & FAA aMue foneal # ST fohdT 1o g, e § Sede T 50,460 ¥ T st &
16% wfar &% g1 3N =ar=r & e =ergfe &, af For a1 g

Options:
, % 313,980
, % 18,198

. » 19,380
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. v £19,920

Question Number : 70 Question Id : 627289270 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A shopkeeper marks his goods at such a price that after allowing a discount of 12 ; % on it, he still earns a profit of
12%. What is the marked price of an article that costs him ¥ 1,925?

Options:
, % T2.560
5 o 2,464

5 & T2.460

4 % T2364

Question Number : 70 Question Id : 627289270 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T GHACK IS WA 9T OF A 3 wIar ¢ & 307 o0 122 % H g a7 W o 37 12% & T 2
1,925 Fr AT 3T WA H b Hed FT 272

Options:

. = ¥2,560
, v ¥2,464
. » 2,460

. % $2,364

Question Number : 71 Question Id : 627289271 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
To do a certain work, B takes 5 times as long as A and C together and C takes 4 times as long as A and B together take.

If all of them working together can finish the work in 15 days. then A alone will finish ? part of the work in:
Options:
.  10days

> % 12 days

- % 15 days
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4 w 19 days

Question Number : 71 Question Id : 627289271 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e 1/ @1 = 7 B 37 §AT & 5 I AT AT ¢ foder A H C TH WY A F Ad g, I97 C 37
THT &M 4 T AT ol ¢ ST A 3R B TF Ty & # o g1 I TN v WA FA w4 15T A
mq{ymmﬁ,a‘rm,&mmig Ry = 9 s F T A gHT g

Options:

1 v 10 T
5 % 12 Tt
3% 15 fe=
4= 19 ot

Question Number : 72 Question Id : 627289272 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The incomes of X, Y and Z last year were in the ratio of was 3 : 4 : 5. The ratios of their individual incomes of last year
and the present year are 4 : 5, 2 : 3 and 3 : 4 respectively. If the total income of X, Y and Z for the present year is
¥ 59,100, then the present income of Y is:

Options:

. % 18,000

> % 13,500
= % 24,000

4 v 21,600

Question Number : 72 Question Id : 627289272 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Froer a9 X, Y 3R Z # 37 & 3799 3 : 4 : 5 o7l Row I8 U $HW 99 3G iFAerd T F
FAMT FAMW 4 :5,2: 333471 AW AT X Y AR Z Fr Fo a7 159,100 g, A Y #
TIAT 3T &

Options:

. % T18,000

, » 13,500

CAT 7 Senior Scale Stenographer English CBT 8th Nov 2017 Shift 2



CAT 7 Senior Scale Stenographer English CBT 8th Nov 2017 Shift 2

- » 24,000

. v $21,600

Question Number : 73 Question Id : 627289273 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A vessel contains acid and water in the ratio 4 : 3. If 14 litres of the solution is removed and the same quantity of water
is mixed. the ratio of acid and water becomes 10 : 11 in the vessel. What quantity (in litres) of the solution does the
vessel hold?

Options:
1 ® 06

Question Number : 73 Question Id : 627289273 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ve 9 # ofEs R O @ e 4 0 3 71 3fE 14 dhex Reme e fawm S s 9wt f s &
A f&em & Jre, & 9ty 7 ofds i 9 v s 10 ¢ 11 @ Seem 9 F e faewe (s #) 27

Options:

1 ® 96
> « 84
=z ® 72

4 #® 60

Question Number : 74 Question Id : 627289274 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In racing over a certain fixed distance at uniform speed. A can beat B by 20 metres, B can beat C by 10 metres and A
can beat C by 28 metres. The total distance for racing (in metres) is:

Options:
1 ® 60

7

LA

o W

s « 100
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4 % 120

Question Number : 74 Question Id : 627289274 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frelr fAReT gl 1 W # THEA TTd T §U A, B H 20 AT ¥, B, C & 10 I W AR A, C
FT 28 HeT ¥ & THhaT g1 W I T gff (HeT ) &

Options:

1 ® 60
o B 75
= « 100

4% 120

Question Number : 75 Question Id : 627289275 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o and P are the roots of the equation x* + px + ¢ = 0 and r and s are the roots of

x* +px —r =0, then (0. —r) (o — s) is equal to:

Options:

1« g7
o % 4-T
- % Q7T
4 ® F=Y

Question Number : 75 Question Id : 627289275 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬂﬁaﬁﬁmﬂxz+px+q=ﬂ #Hﬁ%ﬂ'ﬂnrﬁsxz—i—px—r:lj #HE%HT
(a - 1) (a - S)TTF FUST FM:

Options:

1. 9 _(q + r}

g_fﬁq_r

3_%3q+r
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4% 749

Question Number : 76 Question Id : 627289276 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball of 400g starts moving in a straight line with a velocity of 4 m/s on a rough plane surface. It stops in 2s. The
magnitude of the net force opposing the motion of the ball is:

Options:
; % 02N

> % 04N
3 « 08N

4 % 40N

Question Number : 76 Question Id : 627289276 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

400 I #T UH g GREL HAE W 4 Hewdws H afa § @t T # afcAT @ § @ 2 des A
T ST 21 9 @ iy F RBafg e arer g $r A §

Options:

w02 N (7

_ o 04N (&)

. » 08 N (7=

L« 40N (=)

Question Number : 77 Question Id : 627289277 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A canon of 1,500 kg is initially at rest but free to recoil. It fires a ball of 45 kg with a velocity of 40 mv/s. After firing, the
velocity of the canon is (all velocities relative to the ground):

Options:
1 % 1.2m/s

>  —1.2mfs

3 % 1.83m/s
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4 % —1.8m/s

Question Number : 77 Question Id : 627289277 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1,500 fFaramy T T 99 3IFET H T 3=eer 7 § o 9faue == F T =97 2
Tg 45 FFeETE F ater 40 Heydss $r afa ¥ e §1 T e ¥ 91 ar &y O &
(msfr 71fY erger @ @efeT )

Options:

. v —1.2 HeyTFE

4 ® =18 ﬂIEU@;ﬁ

Question Number : 78 Question Id : 627289278 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A car weighing 1.200 kg is moving with a speed of 10 m/s. An amount of 90 kJ of work is done on it. The final speed of
the car (ignoring friction) is approximately:

Options:
1 % 124 m/s

- o 15.8 m's
z % 21.6 m/s

4 % 32.7m/s

Question Number : 78 Question Id : 627289278 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1,200 fretems s #T v FR 10 HAey@Fs F a1fa ¥ 1w g1 57 W 90 Frese & F G s
g1 (N7 S F TSET Fd g9 FR #Fr 3fam oty e &

Options:

, v 15.8 HeydFs

- % 21.6 HUUFS
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4 % 32.7 Hey/Aws

Question Number : 79 Question Id : 627289279 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
A ball of mass m falls from height & under gravity. Let ¥ and K denote the potential and kinetic energy of the ball at a
point at height x. When x =2//5, the ratio V/K is:

Options:
1 #® 1/5

S 1/3
= % 1/2

4. ¢ 2/3

Question Number : 79 Question Id : 627289279 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m FEAAT T T g XTSI T F HA 4 FAR H B B AT AT FAE W VAR K
Tufas F=1 3k o1ifas == & TS &1 9 x = 24/5, & VK& HeqTd BT

Options:

L% 1/5
= 1/3
s % 1/2

L 23

Question Number : 80 Question Id : 627289280 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
The acceleration due to gravity on a planet is 1/8 times of that on Earth. The mass of the planet is 1/4 that of Earth. Then

the radius of the planet is i times that of Earth, where # is:

Options:
1 ® 1

z.ﬁ?’ﬁ
3_%2

4.%'3’“@’
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Question Number : 80 Question Id : 627289280 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TH IE W IXCAHNUT T & HRUT &X0T 2T F JHES 1/8 0T g1 AT M FeIA G & Hwe 1/4
gl 92t & FFES TE F FIIE n IO §, e 0 E

Options:
1 & 1

z.v""“ﬁ

3.%2

4.33\'@

Question Number : 81 Question Id : 627289281 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the colour of Phenolphthalein in basic medium?
Options:
1 % Colourless

> % Yellow
= o Pink

4 % Blue

Question Number : 81 Question Id : 627289281 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST ATCTH H BAFUET T T a1 g 872
Options:

1. % iiEéIEI
o W tﬁ?’ﬂ-

¥ 2

4_%3#'3‘”-

Question Number : 82 Question Id : 627289282 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following acids does not release hydrogen gas when treated with active metals?

Options:
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1 « Nitric acid
- % Hydrochloric acid
- % Sulphuric acid

, % Phosphoric acid

Question Number : 82 Question Id : 627289282 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafafee & @ #i7 @ sva wfeT argat & oy 5o & W TsEee AW 3c9e @6 e

Options:

1. ¢ A $iEE 3TFel

o  CTSSIFelNeh 3HFd

't
2 % deHrdien H&el

4 % ITHIER HFa

Question Number : 83 Question Id : 627289283 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following metals has the highest affinity to displace hydrogen from hydrochloric acid?

Options:
, = Copper

> o Zinc
3 % Platinum

4 % Mercury

Question Number : 83 Question Id : 627289283 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T & & 5w uig F aegeeilts s & ¥ g Rrufa s f sy ssuas e 7
Options:

1 ® CRER
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z.aﬁ*ﬁ'ﬂ?
glwﬂ'ﬁ?ﬁ?
4@%?%

Question Number : 84 Question Id : 627289284 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What gas is released when a carbonate or bicarbonate salt is treated with a dilute acid such as HCI?
Options:
1 % Methane

- % Carbon monoxide
5 « Carbon dioxide

, % Hydrogen sulphide

Question Number : 84 Question Id : 627289284 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

8 FE(AE AT TAEHEAC Fa0T B AWHAT HCl 8 Belr o 39a & T Fr § aF &l & 37
forerordr 872
Options:

1_339'51'5:1?!'

L« FEF AAHFASS

. » FE SEATFHES

, » BISSISld HoWHIss

Question Number : 85 Question Id : 627289285 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the total number of atoms present in 4.8 gram of ozone (03)?
Options:

| % 6.023 x 105

> % 2x%6.023 x 108
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5 « 3 %6.023 x 1022

4 % 6.023 x 102

Question Number : 85 Question Id : 627289285 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4.8 IMA AT (O3) # FUTPAT For WA HT F&ar et gef?
Options:

. % 6.023 x 1023
5 % 2 X 6.023 x 1023
= « 3 x 6.023 x 1022

4 % 6.023 x 10

Question Number : 86 Question Id : 627289286 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following Indian classical dancers has won both Padma Bhushan and Padma Shri awards?
Options:
, % Birju Maharaj

> % Geeta Mahalik
= % Rukmini Devi Arundale

4  Padma Subrahmanyam

Question Number : 86 Question Id : 627289286 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e sl ol Fowr & ¥ 5l o3 {uor R sl 3 el ® WeATed T T g2
Options:

1 " LY E

- w AT AR
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- » TIFHAUT AT HEES

, o T GIEHTH

Question Number : 87 Question Id : 627289287 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following dynasty rulers built the temples of Brihadeswara at Thanjavur?
Options:

, » Pandya

> % Gupta
= « Chola

4 % Maratha

Question Number : 87 Question Id : 627289287 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 7 FEe F Al &7 I & amwsw! F FFaw o2
Options:
1_&31:“3_-':[

o B2

2 v el

4_&3%

Question Number : 88 Question Id : 627289288 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bhitarkanika National Park is in

Options:
1« Odisha

- % Bihar
- % West Bengal

4 % Andhra Pradesh
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Question Number : 88 Question Id : 627289288 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oot T~ 3= T2l

Options:

| ISR

E_Qﬁm
- % 9I"H Fme

g W ETWQ?QT

Question Number : 89 Question Id : 627289289 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per discussions in the GST Council Meeting held on 18th May, 2017, GST rate for Hair Dyes (natural, herbal or
synthetic[except hair oil]) is:

Options:
1 % 5%

L % 0% (Nil)
s o 28%

4 % 18%

Question Number : 89 Question Id : 627289289 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

18 7§ 2017 = faa Sewdr Mwe & do5 # 22 o1 F 3=wR, FW =¥ (g, g5 a1
s (@t & oo F o)) F O sfvadr T &
Options:

1 ® 5%

. 0% (D)

2 @ 28%

4 % 18%

Question Number : 90 Question Id : 627289290 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Which Schedule of the Indian Constitution prescribes the various Forms of Oaths or Affirmations?
Options:
1 % First Schedule

- » Eighth Schedule

= « Third Schedule

4 % Tenth Schedule

Question Number : 90 Question Id : 627289290 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HRATT HiAUTT T PlA-HT AT A9 A FITEEAE F Ty T # Faia w5 82

Options:

1&“@

HTSAT HgE=T
o B -
3. v 2T

4 = mw

Question Number : 91 Question Id : 627289291 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following vitamins did Henrik Dam discover?
Options:
1 % Vitamin C

> o Vitamin K
%z % Vitamin D

4 % Vitamin A

Question Number : 91 Question Id : 627289291 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gl =7 7 Aeaeida 7 ¥ e Rafas & e & 9

Options:
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1 ® ﬁaﬁﬁﬁ
, v e &
=z B ﬁ?:"lﬁﬁ?l’

4 % EE@AT T

Question Number : 92 Question Id : 627289292 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following countries suffered multiple outbreaks of Yellow Fever in 20177

Options:
1 % Saudi Arabia

- % China
3 « DBrazil

4 % SriLanka

Question Number : 92 Question Id : 627289292 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T & @ g 2o & 9§ 2017 & &2 a7 99 =9 & THIT F GHAT FT 9377
Options:

, & TG 3T

g_wiﬁ?{

4 % SreTeRT

Question Number : 93 Question Id : 627289293 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which athletic event did Seema Punia Antil represent India in the XXXI Olympic Games?

Options:

, = Long Jump

- % 100 Metres Hurdles
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- % High Jump

4 « Discus Throw

Question Number : 93 Question Id : 627289293 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

317 eIfes Tell F WA = e F 5w vwefes e 7 sva & wiafafae B ar?
Options:

1. ® aﬁr?\m
5 % 100IﬁETE|TﬂTa‘?3

z % ﬁaﬁ

4 T e

Question Number : 94 Question Id : 627289294 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the MLA of Heingang who was sworn in as the Chief Minister of Manipur in 2017.
Options:
, » Radhabinod Koijam

- % Rishang Keishing

- % Yangmasho Shaiza

4 « N.Biren Singh

Question Number : 94 Question Id : 627289294 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

&I % 30 faurges # A1 gasv SEd 2017 # At & gEgEd & &9 7 a9y o

Options:

| » TUTEEAE HIETH
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. v TAERT faE

Question Number : 95 Question Id : 627289295 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is NOT an Indian musical instrument?

Options:
1 % Chenda

> % Kamaicha
5 Swang

4 » Jhanj

Question Number : 95 Question Id : 627289295 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Faef@e J 9 7 v 9 a9 aemaT /46 27

Options:

1 % T

o % chHAIIT
3MH'I?T

4%%

Question Number : 96 Question Id : 627289296 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a certain code language GLORIOUS is written as LGROOISU. How is CHARMING written in the same code?
Options:

1 ® GNIMRAHC

> % HARCMGIN

=z « HCRAIMGN

4 % RAHCGMIN
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Question Number : 96 Question Id : 627289296 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gt #r5 9w & GLORIOUS T LGROOISU & w7 & fBr@r 3rar §1 38 12 & CHARMING & &%
or@r FTTeT?
Options:

1 = GNIMRAHC
- » HARCMGIN
= v HCRAIMGN

. % RAHCGMIN

Question Number : 97 Question Id : 627289297 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the analogy.

JOF : KFH : : KML. :
Options:

1 « LLN

> % LLM

3 % LNL

4 % LML

Question Number : 97 Question Id : 627289297 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TET H [ F
JGF : KFH :: KML :

Options:

, ¢ LLN
. % LLM
- = LNL

L % LML
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Question Number : 98 Question Id : 627289298 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Insert the word that completes the first word and begins the second.

APR({ ) ION

Options:
1 % cot

o of Ol
o W in

g *® il

Question Number : 98 Question Id : 627289298 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

@Telr SEE & o 38 Reed #T g ST Tg U4%g H U AT @ IR GEL USE H HRIH FHLaT &
APR (__) ION

Options:
1 ® ‘cot
z o On

= W in

g *® ||

Question Number : 99 Question Id : 627289299 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following options. when joined by each letter in the image as a prefix, forms a meaningful English word?

S
L\
C-‘_‘-‘_‘_"“‘-—._
.
GR
SK'//”'
Options:
1 ® EEP
> % OPE

= W ING

4. ¢ IPS
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Question Number : 99 Question Id : 627289299 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 58 0 Fi7 o1 T g 50H F 39990 F 9 F JT I« W & F§ Tmar = g Hev
HER-TIHA TS WIUH IS e FAA 22

S
L \\
C—-‘_‘_‘-‘_"‘—‘-—._
T
GR
SK./"/H
Options:

, % EEP
. % OPE
- = ING

4 v IPS

Question Number : 100 Question Id : 627289300 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the missing number in the series.

2,30, 15,45, 15T.5,
Options:

1 % 275.5

5 « 630

5 % 630.5

4 % 650

Question Number : 100 Question Id : 627289300 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

T H TS g5 WS H I
2, 3, 6,15, 45 157.5,

Options:

| % 2755

» « 630
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- % 6305

, # 650
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